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SVC(kernel="1linear", C=1)
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SGOClassifier(loss="hinge", alpha=1/(m*C))
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https://codingalzi.github.io/handson-ml2/notebooks/handson-ml2-05.html
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polynomial_svm_clf = Pipeline([
("poly_features", PolynomialFeatures(degree=3)),
("scaler", StandardScaler()),
("svm_clf", LinearSVC(C=10, loss="hinge", random_state=42))
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https://www.youtube.com/watch?v=OdlNM96sHio
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https://www.geogebra.org/3d
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poly_kernel_svm_clf = Pipeline([

("scaler", StandardScaler()),

("svm_clf", SVC(kernel="poly", degree=3, coefO=1, C=5)) 1)
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https://www.desmos.com/calculator?lang=ko
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rbf_kernel_svm_clf = Pipeline(]
("scaler", StandardScaler()),

("svm_clf", SVC(kernel="rbf",

gamma=0.1, C=0.001)) 1)
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